
 
UP.545 Find: 

𝛀 = ∫
𝒙𝟓 − 𝟑𝒙𝟑

𝟑𝒙𝟔 − 𝒙𝟒 − 𝟑𝒙𝟐 + 𝟏

𝟏
𝟐

𝟎

𝒅𝒙 

Proposed by Daniel Sitaru – Romania  

Solution 1 by proposer 

𝒙 ∈ (𝟎,
𝟏

𝟐
) ⇒ (∃)𝒚 ∈ (𝟎, 𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝟐
) ; 𝒙 = 𝐭𝐚𝐧 𝒚 

𝒅𝒙 =
𝟏

𝐜𝐨𝐬𝟐 𝒚
𝒅𝒚;𝒅𝒙 = (𝟏 + 𝐭𝐚𝐧𝟐 𝒚)𝒅𝒚 

𝒙 = 𝟎 ⇒ 𝒚 = 𝟎; 𝒙 =
𝟏

𝟐
⇒ 𝒚 = 𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝟐
 

𝛀 = ∫
(𝐭𝐚𝐧𝟓 𝒚 − 𝟑 𝐭𝐚𝐧𝟑 𝒚)(𝟏 + 𝐭𝐚𝐧𝟐 𝒚)

𝟑 𝐭𝐚𝐧𝟔 𝒚 − 𝐭𝐚𝐧𝟒 𝒚 − 𝟑 𝐭𝐚𝐧𝟐 𝒚 + 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 = −∫
𝐭𝐚𝐧𝟑 𝒚 (𝟑 − 𝐭𝐚𝐧𝟐 𝒚)(𝟏 + 𝐭𝐚𝐧𝟐 𝒚)

𝟑 𝐭𝐚𝐧𝟐 𝒚 (𝐭𝐚𝐧𝟒 𝒚 − 𝟏) − (𝐭𝐚𝐧𝟒 𝒚 − 𝟏)

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 = −∫
𝐭𝐚𝐧𝟑 𝒚 (𝟑 − 𝐭𝐚𝐧𝟐 𝒚)(𝟏 + 𝐭𝐚𝐧𝟐 𝒚)

(𝐭𝐚𝐧𝟐 𝒚 − 𝟏)(𝐭𝐚𝐧𝟐 𝒚 + 𝟏)(𝟑 𝐭𝐚𝐧𝟐 𝒚 − 𝟏)

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 = ∫
𝐭𝐚𝐧 𝒚 (𝟑 − 𝐭𝐚𝐧𝟐 𝒚)

𝟑 𝐭𝐚𝐧𝟐 𝒚 − 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

⋅
𝐭𝐚𝐧𝟐 𝒚

𝐭𝐚𝐧𝟐 𝒚 − 𝟏
𝒅𝒚 

𝛀 =
𝟏

𝟐
∫ 𝐭𝐚𝐧(𝟑𝒚)

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

⋅
𝟐 𝐭𝐚𝐧 𝒚

𝐭𝐚𝐧𝟐 𝒚 − 𝟏
⋅ 𝐭𝐚𝐧 𝒚𝒅𝒚 

𝛀 =
𝟏

𝟐
∫ 𝐭𝐚𝐧(𝟑𝒚) ⋅ 𝐭𝐚𝐧(𝟐𝒚) ⋅ 𝐭𝐚𝐧 𝒚

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 =
𝟏

𝟐
∫ (𝐭𝐚𝐧𝟑𝒚 − 𝐭𝐚𝐧 𝟐𝒚 − 𝐭𝐚𝐧 𝒚)

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 =
𝟏

𝟐
∫ 𝐭𝐚𝐧 𝟑𝒚𝒅𝒚

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

−
𝟏

𝟐
∫ 𝐭𝐚𝐧 𝟐𝒚𝒅𝒚

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

−
𝟏

𝟐
∫ 𝐭𝐚𝐧 𝒚

𝐚𝐫𝐜𝐭𝐚𝐧
𝟏
𝟐

𝟎

𝒅𝒚 

𝛀 =
𝟏

𝟐
𝐥𝐧 (𝐜𝐨𝐬 (𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝟐
)) +

𝟏

𝟒
𝐥𝐧 (𝐜𝐨𝐬 (𝟐𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝟐
)) −

𝟏

𝟔
𝐥𝐧 (𝐜𝐨𝐬 (𝟑𝐚𝐫𝐜𝐭𝐚𝐧

𝟏

𝟐
)) 



 
Solution 2 by Marin Chirciu-Romania 

With the substitution 𝒙𝟐 = 𝒕 we obtain: 

𝛀 =
𝟏

𝟐
∫

𝒕𝟐 − 𝟑𝒕

𝟑𝒕𝟑 − 𝒕𝟐 − 𝟑𝒕 + 𝟏

𝟏
𝟒

𝟎

𝒅𝒕 =
𝟏

𝟐
∫

𝒕𝟐 − 𝟑𝒕

(𝒕 − 𝟏)(𝒕 + 𝟏)(𝟑𝒕 − 𝟏)

𝟏
𝟒

𝟏

𝒅𝒕 = 

=
𝟏

𝟐
∫ (

−
𝟏
𝟐

𝒕 − 𝟏
+

−𝟏

𝟑𝒕 − 𝟏
+

−𝟏

𝒕 + 𝟏
)

𝟏
𝟒

𝟏

𝒅𝒕 = 

=
𝟏

𝟐
(−

𝟏

𝟐
𝒍𝒏|𝒕 − 𝟏| −

𝟏

𝟑
𝒍𝒏|𝟑𝒕 − 𝟏| − 𝒍𝒏|𝒕 + 𝟏|)|

𝟎

𝟏
𝟒
= 

=
−𝟏

𝟐
(
𝟏

𝟐
𝐥𝐧|𝒕 − 𝟏| +

𝟏

𝟑
𝐥𝐧|𝟑𝒕 − 𝟏| + 𝐥𝐧|𝒕 + 𝟏|)|

𝟎

𝟏
𝟒
= 

= −
𝟏

𝟐
(
𝟏

𝟐
𝐥𝐧 |

𝟏

𝟒
− 𝟏| +

𝟏

𝟑
𝐥𝐧 |

𝟑

𝟒
− 𝟏| + 𝐥𝐧 |

𝟏

𝟒
+ 𝟏|) = −

𝟏

𝟐
(
𝟏

𝟐
𝐥𝐧

𝟑

𝟒
+
𝟏

𝟑
𝐥𝐧
𝟏

𝟒
+ 𝐥𝐧

𝟓

𝟒
) = 

= −
𝟏

𝟐
(
𝟏

𝟐
𝐥𝐧 𝟑 − 𝐥𝐧 𝟐 −

𝟐

𝟑
𝐥𝐧 𝟐 + 𝐥𝐧 𝟓 + 𝐥𝐧 𝟐 − 𝟐 𝐥𝐧 𝟐) = −

𝟏

𝟐
(
𝟏

𝟐
𝐥𝐧 𝟑 −

𝟏𝟏

𝟑
𝐥𝐧 𝟐 + 𝐥𝐧 𝟓) = 

=
𝟏𝟏

𝟔
𝐥𝐧 𝟐 −

𝟏

𝟒
𝐥𝐧 𝟑 −

𝟏

𝟐
𝐥𝐧𝟓 

I broke it down into simple fractions: 

𝒕𝟐−𝟑𝒕

(𝒕−𝟏)(𝟑𝒕−𝟏)(𝒕+𝟏)
=

𝑨

𝒕−𝟏
+

𝑩

𝟑𝒕−𝟏
+

𝑪

𝒕+𝟏
, with 𝑨 = −

𝟏

𝟐
, 𝑩 = −𝟏,𝑪 = −𝟏 

 


